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Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :
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Question Number : 136 Question Id : 6323867116 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

632386129
1

Online
Mandatory
15

15

75

Yes

0

1
632386308
Yes

null

Key Value

Comprehension MCQ1




Match List I wath List [T

LISTI LISTII
A writelines I. |module for binary files
B. |pickle II. lopening and reading a binary file
C. [rv-except II1. pwriting a sequence of string
D |rb IV, |exception handling

Choose the correct answer from the options given below:
1. A-IIL, B-IV, C-II, D-I
2. A-IV, B-1, C-III, D-II
3. A-IIL B-IV, C-I, D-II
4. A-III, B-I, C-IV, D-II
Options :
63238628461. 1
63238628462. 2

63238628463. 3

63238628464. 4

Question Number : 136 Question Id : 6323867116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




T 11 gl 11 1 e siforn

T 1 T 11
A, Iwritelines E WW$WW
B. pickle 1L [@13-3] BIgd &l @leHl 3R 0e]
C. [try-except 11 [T 17T (string) ®! %Y H fegAn
D |b IV. |31udTg &) TR (handling)
fFrafefad fqeel 5 I 9et SR &1 997 SIS -

1. A-TIL B-IV. C-II. D-I

| ]

CA-IV. B-1. C-II1. D-IT

LFN]

AT B-IV, C-L, D-II

e

. A-IIL B-I1. C-IV, D-II

Options :

63238628461. 1
63238628462. 2
63238628463. 3

63238628464. 4

Question Number : 137 Question Id : 6323867117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

Which of the following represents mode of both writing and reading in binary format in file?
1. wh+
2.w
3.ar

4, wt

Options:

63238628465. 1



63238628466. 2
63238628467. 3

63238628468. 4

Question Number : 137 Question Id : 6323867117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

FHEfaRad § T F 1718 (mod) BIEA H 915711 BiAe H forg R g+ & fau 82
1. wbt
2. W
3. at
Aot
Options :
63238628465, 1
63238628466. 2

63238628467. 3

63238628468. 4

Question Number : 138 Question Id : 6323867118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




Which of the following 1s not a valid mode to open a file?
1. ab
2. TW
Fipt
4. w+
Options:
63238628469. 1
63238628470. 2

63238628471. 3

63238628472. 4

Question Number : 138 Question Id : 6323867118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

fA0 & 3 S T 115 (mode) BIEd @l & [0 O 781 82
1.ab
B o

4wt
Options :
63238628469. 1
63238628470. 2
63238628471.3

63238628472. 4



Question Number : 139 Question Id : 6323867119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

Which error 1s generated by pickle.load() function. when you reach end - of - file, while reading from the file.
1. EOL error
2. EOF error
3. File doesn't exist
4. No error i3 generated
Options :
63238628473. 1
63238628474. 2

63238628475. 3

63238628476. 4

Question Number : 139 Question Id : 6323867119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




Won
W

pickle.load() W%Waﬂwﬁgﬁ (en‘or)WB‘TﬂT%fW WW@[Q@?{ ﬁaﬂqmai \H'_d(end - of - ﬁle]'ﬂqﬁﬁa‘?

J.ﬁ‘éiﬁ'(ﬂror]m%ﬁﬁl
Options :
63238628473. 1
63238628474. 2
63238628475. 3
63238628476. 4

Question Number : 140 Question Id : 6323867120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

Which of the following command i1s DML command?
1. Delete
2. Drop
3. Alter

4. Create
Options :

63238628477. 1
63238628478. 2
63238628479. 3

63238628480. 4



Question Number : 140 Question Id : 6323867120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

79 & 9 19 9 $UIS DML $HIS 82
1. Delete
2. Drop
3. Alter
4. Create
Options:
63238628477. 1
63238628478. 2

63238628479. 3
63238628480. 4

Question Number : 141 Question Id : 6323867121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

Which key is used to link two tables together?

1. Primary key

| B

. Unique key

L]

. Foreign key

4. Candidate key



Options :

63238628481. 1
63238628482 2
63238628483. 3

63238628484. 4

Question Number : 141 Question Id : 6323867121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

&l AIfCTB13T B UP 1Y SIS & (oW HIF Hl Poll (key) BT SYART (64T STl 67
1. WTEHRT il

2.9M% TSl
3. BRA ol
4. DISST ol

Options :

63238628481. 1
63238628482. 2
63238628483. 3

63238628484. 4

Question Number : 142 Question Id : 6323867122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ1

The criteria for selecting a primary key for a table:

A. It must uniquely 1dentify the row,
B. It cannot have NULL value.

C. It can have NULL value.

D. It can have duplicate values.

E. It never uniquely identifies the row.

Choose the correct answer from the options given below:

1. A and B only

B

. C and D only

Tea

.B and E only

4. A and E only
Options:
63238628485. 1
63238628486. 2
63238628487.3
63238628488. 4

Question Number : 142 Question Id : 6323867122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




U dlfdd & (oL UIgER droll &1 g &1 AH6S o

A, 24 ARy =9 4 dR &I UggH H31 dliey|
B. U8 NULL 5 76! 3@ 9&d1|
C. U8 NULL HF 38 IFdr ol

D. $H$ UM U (SYYfdidhe) AH 5l Sl g |

E. U8 DR @i I 1l [9iRy ug=r= 7€l &1l
= f3U fa el & YR UR He!l STk I |

1. Pad A AR B

2.%ad C R D

3. Bad B AR E

4. FIA A JIRE

Options :

63238628485. 1
63238628486. 2
63238628487. 3

63238628488. 4

Question Number : 143 Question Id : 6323867123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

SQL applies conditions on the groups through which clause after groups have been formed?

1. Group by

[

. With
3. Where

4. Having

Options :



63238628489. 1
63238628490. 2
63238628491. 3

63238628492. 4

Question Number : 143 Question Id : 6323867123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

SQL THE WR Xd A Rl § T P d18 (b9 TS (clause) b FRI 191 STl 82

1. Group by

| ]

. With

Taa

. Where

4. Having
Options :
63238628489. 1
63238628490. 2
63238628491. 3

63238628492. 4

Question Number : 144 Question Id : 6323867124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




I column "Payment” contains the data set {10000, 15000, 25000, 10000, 13000}, what will be the output after the exccution of the given
query?

SELECT SUM(DISTINCT PAYMENT) FROM EMPLOYEE ;
1. 75000
2. 25000
3.10000
4,50000
Options :
63238628493. 1
63238628494. 2

63238628495. 3

63238628496. 4

Question Number : 144 Question Id : 6323867124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

TR "Payment” PICTH U 521 B2{10000, 15000, 5000, 10000, 15000} T &, 0 GU &R 9l MG o & &G e e

]

SELECT SUM(DISTINCT PAYMENT) FROM EMPLOYEE ;
1. 75000
2.25000
3. 10000

4. 50000
Options:
63238628493. 1

63238628494. 2



63238628495. 3

63238628496. 4

Question Number : 145 Question Id : 6323867125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

Which of the following is not an aggregate function?

1. max(col)

| ]

. min(col)

Taa

. round(n.d)
4. count(*)
Options :
63238628497. 1
63238628498. 2
63238628499. 3
63238628500. 4

Question Number : 145 Question Id : 6323867125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




e § oI uiie haeE e 22

. max(col)

—t

[ ]

. min{col)

Taa

. round(n.d)
4. count(*)
Options :
63238628497. 1
63238628498. 2
63238628499. 3

63238628500. 4

Question Number : 146 Question Id : 6323867126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

What is the output of the following SQL query?
mysql > SELECT RIGHT{"PRAYGRAJ", 3);
1. PRA
2. PRAYAG
3.RAJ

4. PRAYAGRA]J
Options:
63238628501. 1
63238628502. 2
63238628503. 3

63238628504. 4



Question Number : 146 Question Id : 6323867126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

=¥ SQL &< &1 33cYe 1 82
mysql = SELECT RIGHT("PRAYGRAI", 3):
1.PRA
2. PRAYAG
3. RAT
4, PRAYAGRA]J
Options :
63238628501. 1
63238628502. 2

63238628503. 3

63238628504. 4

Question Number : 147 Question Id : 6323867127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




Match List I wath List [T

LIST1I LISTII
A HTTP [. |Eile Transfer Protocol
B. [FIP II. |5imple Mail Transfer Protocol
C. |[SMTP ITT. |Transmission Control Protocol
b. [ICP IV, Hyper Text Transfer Protocol

Choose the correct answer from the options given below:
1. A-IV, B-1, C-III, D-II
2. A-IV, B-1, C-11, D-III
3. A-I, B-II, C-IV. D-III
4. A-II, B-1, C-III. D-IV
Options :
63238628505. 1
63238628506. 2

63238628507. 3

63238628508. 4

Question Number : 147 Question Id : 6323867127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




el 1 1 gl 11 9 e sifor

T I T I
EEEGE] L [wrgd cium vieisld
[T 1L [[uc dd g uietdia
Toudl |11 [eraiRE deid uleldid
g IV [E3WR e e-ahR dieidmid]

Fafeiad [deedl & 9 9gl U &1 994 $Ivi :

1. A-IV, B-1, C-III, D-II

ofafw]

2. A-IV. B-1, C-II. D-III
3. A-I. B-II. C-IV. D-III
4. A-IIL, B-1. C-IL. D-IV
Options :
63238628505. 1
63238628506. 2
63238628507. 3
63238628508. 4

Question Number : 148 Question Id : 6323867128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

If a computer connected to a star topology fails, the entire network will

1. Also fails

| ]

. Work unaffectedly
3. Only server will work

4. Only five nodes will be affected
Options :



63238628509. 1
63238628510. 2
63238628511. 3

63238628512. 4

Question Number : 148 Question Id : 6323867128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

3R ¥R cludiel ¥ o] Us duex 3hd idl 5, dl 33 "ead
1. 1T 3w g1 S|

 JYTiad U fa1 B S|

H Rt R B BT |

1. ¥ Paq g s guifad i |

Options :

| o]

Taa

63238628509. 1
63238628510. 2
63238628511. 3

63238628512. 4

Question Number : 149 Question Id : 6323867129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ1

In topology if the server is not working the entire network does not work.

1. Bus

|

.Ring

3. Circle

4. Star
Options:
63238628513. 1
63238628514. 2
63238628515. 3
63238628516. 4

Question Number : 149 Question Id : 6323867129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

_ Tuidlel ¥ SAR ¥aR B 5l PR Ie1 § dl "edd ol B 78l Bl

199
fa
fdha

4. R
Options :

| S

(5]

63238628513. 1
63238628514. 2
63238628515. 3

63238628516. 4



Question Number : 150 Question Id : 6323867130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

Which of the following device filters the data before forwarding it?

A. Switch

B. Repeater

C. Gateway

D. Ethernet Card

Choose the correct answer from the options given below:

1. A Only

]

.B Only

3. C Only

4. D Only
Options :
63238628517. 1
63238628518. 2
63238628519. 3
63238628520. 4

Question Number : 150 Question Id : 6323867130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




e 5 9 oF 193 ST & 3 ggH ¥ USd Bledi(filter) 87

-4 fau fasedl & YR 4R 981 3R 9.
1. Pad A
2. %ddB
3. B C
4, PaaD

Options :

63238628517. 1
63238628518. 2
63238628519. 3
63238628520. 4

Computer Science

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Maximum Instruction Time:
Sub-Section Number :

Sub-Section Id :

632386130
2

Online
Optional
35

25

125

Yes

0
1
632386309



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 151 Question Id : 6323867131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
The statements inside the block are always executed regardless of whether an exception occured in the block

or not, What will be the approptiate clause i above statement respectively.
1. finally, except
2. exeept, finally
3. finally, try
4. try, finally
Options :
63238628521. 1
63238628522. 2

63238628523. 3

63238628524. 4

Question Number : 151 Question Id : 6323867131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




& & 3R P DU 1 U 5 191§ & STl e o g | e e ol
5 (clause) PR Gl

1. finally, except

2. except, finally

3. finally, try

4.try, finelly
Options :
63238628521. 1
63238628522. 2

63238628523. 3

63238628524. 4

Question Number : 152 Question Id : 6323867132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Which of the file mode in the following 1s mvalid for a text-file?

l.a

[ ]

. W

i

. T

4. ab

Options :

63238628525. 1
63238628526. 2
63238628527. 3

63238628528. 4



Question Number : 152 Question Id : 6323867132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

9 & ®F 91 BIgd USd cae-HIsd & g 3dy 82

l.a

| ]

W

L]

T

4. ab

Options :

63238628525. 1
63238628526. 2
63238628527. 3

63238628528. 4

Question Number : 153 Question Id : 6323867133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Which offset of seek() method in the following 18 not valid?

1. 0-18 for beginning of file.

|

. 1-the middle position of the file.

. 2-for end of file.

Tad

4. 1- for current position of file pointer.
Options :
63238628529. 1
63238628530. 2
63238628531. 3

63238628532. 4

Question Number : 153 Question Id : 6323867133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

o & T B T seek() a0 &7 AT (offset) T2 82
0-PT5T & Y% B & AU B
1150 BT HE UG |

2-Igd & 3id & forg

4. 1- BISd Greex &I gaqH fRufd|

—

[

]

Options:

63238628529. 1
63238628530. 2
63238628531.3

63238628532. 4



Question Number : 154 Question Id : 6323867134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Evaluate the following postfix expression and find the correct value in the following- 50, 60, +, 20, 10, -, *
1. 1100
2.1000
3.9000
4,10
Options :
63238628533. 1
63238628534. 2

63238628535. 3

63238628536. 4

Question Number : 154 Question Id : 6323867134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

9 URefthag TaIUYH 50, 60, <, 20, 10, - * DI T0AT &2 3R A9 & 9 981 79 qa 3
1. 1100
2. 1000
3. 9000

4. 10



Options :

63238628533. 1
63238628534. 2
63238628535. 3
63238628536. 4

Question Number : 155 Question Id : 6323867135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Which of the following is a service that does the mapping between domain name and IP address?

1. Uniform Resource Locator

[ ]

. World Wide Web
3, Domain Name System

4, Hyper Text Transfer Protocol
Options :
63238628537. 1
63238628538. 2
63238628539. 3
63238628540. 4

Question Number : 155 Question Id : 6323867135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ2

5 & I o1 Tt Ja1 ol S A 3R P Ugd | Bt Bl 82
1. gHeH N dldeR

. acs aIss a9

S H RiEed

-

]

4, BIEWR CRE COHR HIelDld
Options :
63238628537. 1
63238628538. 2
63238628539. 3

63238628540. 4

Question Number : 156 Question Id : 6323867136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Which term 1s used to add an element into a stack?
1. PUSH
iPEEL
3. 3EEK

4. POP
Options :
63238628541. 1
63238628542. 2
63238628543. 3

63238628544. 4



Question Number : 156 Question Id : 6323867136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

FHE IS T UE ©F DS dd ol & [0 SudrT g1 ofar 22
1. PUSH
2. PULL
3. SEEK
4. POP
Options :
63238628541. 1
63238628542, 2
63238628543, 3

63238628544. 4

Question Number : 157 Question Id : 6323867137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Match List I wath List [T

LISTI LISTII
A |Stack [. [FIFO
B. [EOF II. [Non-linear Data Structure
C. |Tree II1. [Exception
D. [Queue IV |ILIFO

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I

[

. A-TI, B-IIL, C-TV, D-I

L]

A-L B-11L C-III, D-IV
4. A-IV, B-111, C-1, D-II

Options :

63238628545. 1

63238628546. 2

63238628547.3

63238628548. 4

Question Number : 157 Question Id : 6323867137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




el 1 1 gl 11 9 e sifor

T I T I
@ 1. [l (FIFO)
EOF 11 [ TR S aR
Sl (Tree) 11 |30dlg
T (Quene) | IV [[HI (LIFO)

Fafeiad [deedl & 9 9gl U &1 994 $Ivi :

1. A-IV, B-IIL, C-II, D-I

ofafw]

2. A-IL B-IIL C-IV, D-I
3. A-L, B-II. C-TIL. D-IV
4. A-IV, B-III. C-1. D-II
Options :
63238628545. 1
63238628546. 2
63238628547. 3
63238628548. 4

Question Number : 158 Question Id : 6323867138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

What 15 the term for inserting into a full queue known as?

1. Overflow

| B

. Undertlow

L]

. Null pointer exception

4. Program won't be compiled

Options :



63238628549. 1
63238628550. 2
63238628551. 3

63238628552. 4

Question Number : 158 Question Id : 6323867138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
lﬁ(ﬁ[{ ] (queue) ) 5%%3 ?ﬁﬁmﬁ?w%%ﬂf
1. TGl
2. SIS

.null @EcX 3Udig

4. YT HUISd 9ol sl

Options :

Taa

63238628549. 1
63238628550. 2
63238628551. 3

63238628552. 4

Question Number : 159 Question Id : 6323867139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ2

Insertion and deletion in a queue takes place respectively at which end.

A, Front

B. Rear

C. Middle

D. Second element from right end
E. Second element from left end.

Choose the correct answer from the options given below:

1. B and A only

-2

.Aand B only

Taa

. Cand E only

4. D and E only
Options :
63238628553. 1
63238628554. 2
63238628555. 3

63238628556. 4

Question Number : 159 Question Id : 6323867139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




1 HYH SR (SeeE o " ©R 9 8idl 82

D. 31U ¥R ¥ gIRI T
E. 910 B3R 9 g8 d@

=2 fau faedl o 9 9el SR I |
1. Pad B HR A

PAT A IRB

3.%a0 C SR E

4. 994D AR E

Options :

[

63238628553. 1
63238628554. 2
63238628555. 3

63238628556. 4

Question Number : 160 Question Id : 6323867140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

For best case, linear search, searches

1. The whole list

[

. Half of the list
3. Just one element in the list

4. One fourth of the list
Options :



63238628557. 1
63238628558. 2
63238628559. 3

63238628560. 4

Question Number : 160 Question Id : 6323867140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

ey 3 oy 1 faaR 99 e &

1. O g
. el =i
gl & % Uh da|

gl BT P US|

Options:

-

L]

oy

63238628557. 1
63238628558. 2
63238628559. 3
63238628560. 4

Question Number : 161 Question Id : 6323867141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ2

Which of the following statement(s) is/are true

A. When two elements map to the same slot in hash table, it i called hashing.
B. Linear search takes a sorted list and divide it in the middle

C. Modulo division method 1s Hashing method.

D. Traversing specifies whether key is present in the list or not.

E. Binary search take a sorted/ordered list and divides it in the middle.

Choose the correct answer from the options given below:

1. A and B only

-2

A, B and C only

Taa

.B and D only

4. C and E only
Options :
63238628561. 1
63238628562. 2
63238628563. 3

63238628564. 4

Question Number : 161 Question Id : 6323867141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




FEd TR e YT 9a 87

A. 99 3 Tl B &3 dIfid] & G0 Qi E 99 S ¢ 5901 o< el oIl ¢ |

B. fiaR 94t 9ics gl dar s iR 59o] i Y sical g

C. BISdl (Modulo) FSfaeH W1 td s BT R 51

D. TARIT S & 3 Poll (key) Tl & SUTRYT & TG

E. 1511 9 FIC s (sorted) SIHd Yl ol ¢ SR 59! AL I [GUIo Sl g
PR o Fased] 210 9 GeR 1

1.Had A 3R B

2. $AAA, B AR C

3.%aAB AR D

4.9 C IRE

Options :

63238628561. 1
63238628562. 2
63238628563. 3

63238628564. 4

Question Number : 162 Question Id : 6323867142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

The number of swaps made in pass 1 for the following list using Insertion sort 1s :

i
b



Options :

63238628565. 1
63238628566. 2
63238628567. 3

63238628568. 4

Question Number : 162 Question Id : 6323867142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

g fore § 59909 1 3991 637 TR pass 1 H a1 ST G800 (pass) $E41 02T

32

4.3
Options :
63238628565. 1
63238628566. 2
63238628567. 3

63238628568. 4

Question Number : 163 Question Id : 6323867143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ2

What will be the status of list (given below) after pass 2 using Bubble sort list?

[8]70 138 [1] 6 [4]
781 ] -9 [4] 13 |
o7 [1] -9 J4fc] 13 |
3Lt 9 [4]7]8] 13 |

~]
et
Lad

4. =0 J1f4]8]"
Options:

63238628569. 1
63238628570. 2
63238628571. 3

63238628572. 4

Question Number : 163 Question Id : 6323867143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

T80 91¢ Y BT ST TR IR pass 2 P 918 Y (14 &1 T3 )1 HH 1 g1

lel7] a8 Jaf -s [4]

il 718]1] & [4] 13 |
2l 7]1] o [a]®] 13 |
3L 1] -9 [4f7(8] 13 |

[=a]
|
sk
Lpa

N RS
Options:




63238628569. 1
63238628570. 2
63238628571. 3

63238628572. 4

Question Number : 164 Question Id : 6323867144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

To sort a list having n elements, the Selection sort makes number of passes through the list.

bl
l.n*

2.n

3.n-1

4n+l
Options :
63238628573. 1
63238628574. 2
63238628575. 3

63238628576. 4

Question Number : 164 Question Id : 6323867144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




AT e s bRt deni e smm e et

4.n+1
Options :
63238628573. 1
63238628574. 2
63238628575. 3

63238628576. 4

Question Number : 165 Question Id : 6323867145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

The first page of a website 15 known as
1. Front page

2. Home page

L]

. First Page

4. Banner Page
Options :
63238628577. 1
63238628578. 2
63238628579. 3

63238628580. 4



Question Number : 165 Question Id : 6323867145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

dedIge & Ygd 9o Pl S IBESIEIEIE G
1. e U

B U

B U

4. §RUS

Options:

|

Taa

63238628577. 1
63238628578. 2
63238628579. 3

63238628580. 4

Question Number : 166 Question Id : 6323867146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Which of the following 1s a text file which 1s transferred by the website to the browser when 1t 1s browsed?
1. Web page
2. Cookies
3. Add-ons
4. Plug-ins
Options :
63238628581. 1
63238628582. 2

63238628583. 3

63238628584. 4

Question Number : 166 Question Id : 6323867146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Fed 3 oR bl o BEd & ol 9139 oid 990 da915e GRI ST30R & »FRT gidl 87
1. 99 U

2. Pidw

3. TS 314 (Add-ons)

4. ©lT-5-4 (Plug-ins)
Options :
63238628581. 1
63238628582. 2
63238628583. 3

63238628584. 4



Question Number : 167 Question Id : 6323867147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Match List I with List IT

LISTI LISTII
A AN I .It recerves the 1;fonnanen= exXamines
it and transfers 1t to other network.
B. [Ethernet II. |lt regenerates the received weak signals
C. [Router III. |Set of rules that governs functioning of LAN
3 o I = : ™
B {Hopedtes v [t covers larger ggngraphmal area
such as town or city.

Choose the correct answer from the options given below:
1. A-IV, B-1. C-III, D-II
2. A-IV, B-1I1, C-II, D-I
3. A-IV, B-IIL, C-I, D-II
4. A-I, B-II. C-IV, D-III
Options:
63238628585. 1
63238628586. 2

63238628587. 3
63238628588. 4

Question Number : 167 Question Id : 6323867147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




el 1 1 gl 11 9 e sifor

uill L _
B [eeite i E%Tufﬁﬂwaﬁum L Y3
¢ ke - %%ﬁ LAN & BTl &
D. [dtex v %ﬁ%ﬁqﬁgﬁmimwﬁ
1< ford fdsedi & STUR W ¥t SR I |

1. A-IV, B-I, C-1II, D-II

[

. A-TV, B-II1, C-IT, D-I
3. A-IV, B-III, C-I, D-II
4. A-I, B-II, C-IV, D-III

Options :

63238628585. 1

63238628586. 2

63238628587. 3

63238628588. 4

Question Number : 168 Question Id : 6323867148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Which of the following statement(s) 1s/are true?

A. Selection operation yield horizontal subset of a relation

B. Selection operation yields vertical subset of a relation.

C. Union operator can work on relation with different degree.
D. Intersection and cartesian product operations are not binary.
E. A record is a column on a datasheet.

Choose the correct answer from the options given below:

1. A only

| o]

. B only

Taa

.C and E only

4. D and E only
Options :
63238628589. 1
63238628590. 2
63238628591. 3

63238628592. 4

Question Number : 168 Question Id : 6323867148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




e d o o8 sy 9g e e?

A. TG (selection) HlthT1 T RATH & &I FUHT=Y (subset) DI g1 Bl ¢
B. T8 (selection) Hftha1 Ud XXM & IedUT IUGHEY (subset) P Ual H=al o
C. g ST ol RS IR 3ot 3o fS4T 3 1 3% bl ¢
D. SEXUARH 3R PIfceH islae Hiehar aTg-l el sl
E. Seiie R RIS 1o diaH gidl 8|
A f3U U fodhedl § ¥ el SR |
1.%ad A
2. $ad B
3.%a0 C ARE

4. P3AD ANE

Options :

63238628589. 1
63238628590. 2
63238628591. 3

63238628592. 4

Question Number : 169 Question Id : 6323867149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
Before the usage of table command to add a primary key, one needs to make sure that the field 15

1. ALTER. NOT NULL
2. Create, NOTNULL
3. Update, NOT NULL

4. Update, NULL
Options :



63238628593. 1
63238628594. 2
63238628595. 3

63238628596. 4

Question Number : 169 Question Id : 6323867149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

TP BN 91 (key B OG- o0 el W1 b S 9 Wl 0 MG S iU [ 87 (fekd) ®
1. ALTER, NOTNULL
2. Create, NOT NULL
3. Update, NOT NULL
4, Update, NULL
Options :
63238628593. 1
63238628594, 2

63238628595. 3

63238628596. 4

Question Number : 170 Question Id : 6323867150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Which clause amongst the following can be used along with aggregate functions?

1. Select

|

. Group by
3. Where

4. Both Select and Group by
Options:
63238628597. 1
63238628598. 2
63238628599. 3

63238628600. 4

Question Number : 170 Question Id : 6323867150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Ufile HaxE & OrY 9§ T S 1 Faiol(clause) STTIT {501 9 9ardr 82

1. Select

| ]

. Group by

3. Where

4. G Select 3R Group by
Options:
63238628597. 1
63238628598. 2
63238628599. 3

63238628600. 4

Sub-Section Number : 2



Sub-Section Id : 632386310
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 171 Question Id : 6323867151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Consider the following EMPLOYEE table:

Emp No Ename Salary Bonus Deptld
101 Aaliva 10000 234 D02
102 K ritika 60000 123 D01
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D04
105 Joseph 34000 873 D03
106 Sanva 48000 695 D02
107 Vergese 15000 INULL D01
108 Nachaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanva 50000 167 D05

What will be the output of the SQL query based on above EMPLOYEE table.
SELECT COUNT(*) FROM EMPLOYEE WHERE BONUS IS NULL ;

1.2

23

3.4

4,5
Options :
63238628601. 1
63238628602. 2

63238628603. 3



63238628604. 4

Question Number : 171 Question Id : 6323867151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

9 empLOYEE dTferdT 02 foaR &1,

Emp_No Ename Salary Bonus Deptld
101 Aaliya 10000 234 D02
102 Kritika 60000 123 DO1
103 Shabbir 45000 566 D01
104 Gurpreet 15000 565 Do4
105 Joseph 34000 875 D03
106 Sanya 48000 695 D02
107 Vergese 15000 MULL DO
108 Nachaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanya 50000 467 D05

SR 4l 75, difcid] EMPLOYEE @ TR UR SQL $R1 1 3fT3cye &1 gHI?
SELECT COUNT(*) FROM EMPLOYEE WHERE BONUS IS NULL :

1.2

2.3

3.4

4.5
Options :
63238628601. 1
63238628602. 2
63238628603. 3

63238628604. 4



Question Number : 172 Question Id : 6323867152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Consider the following EMPLOYEE table:

Emp No Ename Salary onus Deptld
101 Aaliva 10000 234 D02
102 Fritika 60000 123 D01
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D04
105 Joseph 34000 873 D03
106 Sanva 48000 695 D02
107 Vergese 15000 NULL D01
108 Nachaobi 25000 NULL D05
109 Daribha 42000 NULL D04
110 Tanya 50000 167 D05

What will be the output of the below SQL query based on above EMPLOYEE table.
SELECT AVG(Salary) FROM EMPLOYEE WHERE Ename like ' anya':

1. 48000

2.47000

3. 49000

4. 50000
Options :
63238628605. 1
63238628606. 2
63238628607. 3
63238628608. 4

Question Number : 172 Question Id : 6323867152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

{9 EMPLOYEE TTfaiT IR faaR &Y,

Emp_No Ename Salary Bonus Deptld
101 Aaliya 10000 234 D02
102 Kritika 60000 123 DO1
103 Shabbir 45000 566 D01
104 Gurpreet 18000 565 D4
105 Joseph 34000 875 D03
106 Sanya 48000 695 D02
107 Vergese 15000 MULL DO
108 Machaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanya 50000 467 D05

W &l 75 alferdl EMPLOYEE & STHR TR M5 SQL &1 &1 ST3eye &1 517
SELECT AVG(Salary) FROM EMPLOYEE WHERE Ename like' anya':

1. 48000

2.47000

3. 49000

4. 50000
Options :

63238628605. 1
63238628606. 2
63238628607. 3
63238628608. 4

Question Number : 173 Question Id : 6323867153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp1

Consider the following EMPLOYEE table:

Emp No [Ename Salary onus Deptld
101 Aaliva 10000 234 D02
102 Kritika 60000 123 D01
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D04
105 Joseph 34000 875 D03
106 Sanva 48000 695 D02
107 Vergese 15000 INULL D01
108 [Nachaobi 29000 NULL D05
109 Daribha 42000 INULL D04
110 Tanva 50000 a7 D05

SELECT SUM(Bonus) FROM EMPLOYEE WHERE Ename LIKE "%oa' AND Salary > 45000 ;

1. 1185

[

. 1265

3. 1275

4. 1285
Options :
632386286009. 1
63238628610. 2
63238628611.3

63238628612. 4

Question Number : 173 Question Id : 6323867153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




9 EMPLOYEE ATt UR faaR &3,

Emp_No Ename Salary Bonus Deptld
101 Aaliya 10000 234 D02
102 Kritika 60000 123 DOo1
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D4
105 Jaseph 34000 875 D03
106 Sanya 48000 695 D02
107 Vergese 15000 MULL DO
108 Nachaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanya 50000 467 D05

SELECT SUM(Bonus) FROM EMPLOYEE WHERE Ename LIKE '%a' AND Salary = 45000 ;
1. 1185
2. 1265
3;: 1275
4.1285
Options :
63238628609. 1
63238628610. 2

63238628611. 3

63238628612. 4

Question Number : 174 Question Id : 6323867154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Consider the following EMPLOYEE table:

Emp No Ename Salary Bonus Deptld
101 Aaliva 10000 234 D02
102 K ritika 60000 123 D01
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D04
105 Joseph 34000 873 D03
106 Sanva 48000 695 D02
107 Vergese 15000 INULL D01
108 Nachaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanva 50000 167 D05

SELECT MIN(Salary) FROM EMPLOYEE WHERE Deptld = "D01" ;

1. 60000

B

. 15000

3. 30000

4. 45000
Options :
63238628613. 1
63238628614. 2
63238628615. 3

63238628616. 4

Question Number : 174 Question Id : 6323867154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




9 EMPLOYEE ATt UR faaR &3,

Emp_No Ename Salary Bonus Deptld
101 Aaliya 10000 234 D02
102 Kritika 60000 123 DOo1
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D4
105 Jaseph 34000 875 D03
106 Sanya 48000 695 D02
107 Vergese 15000 MULL DO
108 Nachaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanya 50000 467 D05

SELECT MIN(Salary) FROM EMPLOYEE WHERE Deptld = "D01" ;

1. 60000

|

. 15000

3. 30000

4. 45000
Options :
63238628613. 1
63238628614. 2
63238628615. 3

63238628616. 4

Question Number : 175 Question Id : 6323867155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Consider the following EMPLOYEE table:

Emp No Ename Salary Bonus Deptld
101 Aaliva 10000 234 D02
102 K ritika 60000 123 D01
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D04
105 Joseph 34000 873 D03
106 Sanva 48000 695 D02
107 Vergese 15000 INULL D01
108 Nachaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanva 50000 167 D05

SELECT MAX(Salary) FROM EMPLOYEE WHERE Bonug IS NOT NULL AND Deptld IN ('D01', D02') ;
1. 48000
2. 50000
3. 60000
4. 45000
Options :
63238628617. 1
63238628618. 2
63238628619. 3

63238628620. 4

Question Number : 175 Question Id : 6323867155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




9 EMPLOYEE ATt UR faaR &3,

Emp_No Ename Salary Bonus Deptld
101 Aaliya 10000 234 D02
102 Kritika 60000 123 DOo1
103 Shabbir 45000 566 D01
104 Gurpreet 19000 565 D4
105 Jaseph 34000 875 D03
106 Sanya 48000 695 D02
107 Vergese 15000 MULL DO
108 Nachaobi 29000 NULL D05
109 Daribha 42000 NULL D04
110 Tanya 50000 467 D05

SELECT MAX(Salary) FROM EMPLOYEE WHERE Bonug IS NOT NULL AND Deptld IN {'D01", D02') ;
1. 48000
2. 50000
3. 60000
4. 45000
Options :
63238628617. 1
63238628618. 2

63238628619. 3

63238628620. 4

Sub-Section Number : 3
Sub-Section Id : 632386311
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 176 Question Id : 6323867156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension Comp2

Data is 2 collection of characters, numbers and other symbols that represents the value of some situations or variables. Structured and
Unstructured are two types of data. Data storage 1s the process of storing the data on storage devices so that data can be retrieved later.
There are various data pre-processing cyele. Store, retrieve, classify and update 13 a pre processing steps. RDBMS can be used to remove
the certain limitations in processing the files.

Based on the sbove paragraph answer the following.

Which of the following is not a structured data?

1. Tabular data

2

. Spread sheet data
3. Multimedia content
4. Inventory of kitchen
Options :
63238628621. 1
63238628622, 2
63238628623. 3

63238628624. 4

Question Number : 176 Question Id : 6323867156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

ST, Sl SR R i o e R a1 ] 5 A 1 T 6, T ¢ | Sk oK AT ST ¢ HR g 3
LD Datasr01aoe|WWWﬂﬁW3ﬂﬁ@ﬁﬂ (store) Wﬁm%maﬂﬁmﬁﬁﬂ?mﬂﬂmﬁlh
51&%@@[@@@@@? @tonelw (retrieve), Wmawh ﬁwm%wgﬁwwm (steps) %IRDB‘\JIS
TS 1 AR (rocessing) ﬁﬁwwaﬁﬂﬁﬁﬁwﬁfmmméf

TR E HDE O HIR T P TR



5 & T SH-91 WRd ST (structured data) Tel &7
1. GRUNEE 3TFHS (Tabular data)
2. Tediie & HHS (Spread sheet data)
3. Ofecdifsar MY (Multimedia content)
4, TS, ] U AT (Inventory of kitchen)

Options :

63238628621. 1
63238628622. 2
63238628623. 3
63238628624. 4

Question Number : 177 Question Id : 6323867157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Data is 2 collection of characters, numbers and other symbols that represents the value of some situations or variables. Structured and
Unstructured are two types of data. Data storage 1s the process of storing the data on storage devices so that datz can be retrieved later.
There are various data pre-processing eyele. Store, retrieve, classify and update 1s a pre processing steps. RDBMS can be used to remove
the certain [imitations in processing the files.

Based on the above paragraph answer the following,

Which of the following 1s not an unstructured data?

1. Webpages consist of text

B

. Text documents
3. Audio/Video files

4. Bank customer details
Options:



63238628625. 1
63238628626. 2
63238628627. 3

63238628628. 4

Question Number : 177 Question Id : 6323867157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

ST, Sl SR R i o e R a1 ] 5 A 1 T 6, T ¢ | Sk oK AT ST ¢ HR g 3
@E’(Data sromge}@ﬂl‘}_ﬁ'waﬁﬁq?éﬂﬁﬁg'ﬁﬂ (store) Wﬁm%maﬂﬁmﬁ ﬁ‘fﬁ-‘WﬁW%l &l
o 175 T T g m ‘El &R (storz) ﬁﬂa (retrieve), Wﬁﬁﬁf (classify) IR u3e [\ @W BeH (steps) % | RDBMS
TS 1 R (processing) 3 0 913 1 o & SU0 o 1 9 €

TR E HDE O HIR T P TR

ﬁ_g et ﬁ_*i-ﬂ'[ SR 31 (unstructured data) '_‘|_Eﬁ %?
1. 49U Ol Yeg] o Gd § |

-

 diéd Q*&dlaﬁi (Text documents)

4. §F 8D fGaxu

L]

Options :

63238628625. 1
63238628626. 2
63238628627. 3

63238628628. 4

Question Number : 178 Question Id : 6323867158 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Data is 2 collection of characters, numbers and other symbols that represents the valuz of some situations or vartables. Structured and
Unstructured are two types of data, Data storage 1s the process of storing the data on storage devices so that datz can be retrieved later,
There are various data pre-processing eyele. Store, retrieve, classify and update 1s a pre processing steps. RDBMS can be used to remove
the certain [imitations in processing the files.

Based on the above paragraph answer the following,

Which of the following is not a data storage device?

1. Hard Disk Drive (HDD)

B

. Tape Drive
3. Central Processing Unit (CPU)
4, Data files

Options:

63238628629. 1

63238628630. 2

63238628631. 3

63238628632. 4

Question Number : 178 Question Id : 6323867158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




ST, SgTe IR Y V! o e R U1 6 & T 6 I 5, T €| Sk N o Sl 9 ) YR g 3T
W(Data smrage}@@?ﬁﬁﬁdﬂ?éﬂﬁﬁ@]%ﬂ (stote) Wﬁm%m%ﬂﬁmﬁ ﬁﬂ??WWW%I &
o 175 T T a&d w %l ER (storz) ﬁﬂa (retrieve), ﬂf’lﬁﬁﬁf (classify) R yu3e [\ ‘I&W BeH (steps) % | RDBMS
TS 1 AR (processing) 3 I 913 1 G & GU0 o 1 9 2

TR E HOE O HIR T TR

59§ 9 & 91 U@ Sc1 TUg S aidl 44 sl 87

1. TT¢ f$%® S15d (HDD)
2.20 gsg
oo urai giae (didig)

4. ST BEE
Options :

L)

63238628629. 1
63238628630. 2
63238628631. 3

63238628632. 4

Question Number : 179 Question Id : 6323867159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Data is 2 collection of characters, numbers and other symbols that represents the value of some situations or variables. Structured and
Unstructured are two types of data. Data storage 1s the process of storing the data on storage devices so that datz can be retrieved later,
There are various data pre-processing eyele. Store, retrieve, classify and update 15 a pre processing steps. RDBMS can be used to remove
the certain limitations in processing the files.

Based on the above paragraph answer the following.



Which of the following 1s not a pre-processing steps in procuring the data?

1. Store

|

. Retrieve

. Update

L]

4. Search
Options:

63238628633. 1
63238628634. 2
63238628635. 3
63238628636. 4

Question Number : 179 Question Id : 6323867159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

ST, Sl 3R R o e R a1 5 A T 8, T ¢ | Sk oK A s 6 TR g S
W(Data smrage}@@ﬁﬁﬁﬁﬁ@%ﬂﬁﬁ@]%ﬂ (store) Wﬁm%m%ﬂﬁmﬁ f[‘fﬁ-‘WﬁW%l &
® 175 TR agd m ‘EI TR (stare) ﬁﬁa (retrieve), Wﬁ%ﬁé (classify) IR 03e 7 ‘ﬁ‘ﬁw BeH (steps) % | RDBMS
TR 1 TR (processing) & 0 @913 1 g B QU0 o 1 9 €

BRE H0E 0 IR R TR

79 T 9 11 91 ST 5Pg B & (07U Jd WD HEH 5l 67
1. ¥R
2. Rela

3. dgsc
4.94

Options :



63238628633. 1
63238628634. 2
63238628635. 3

63238628636. 4

Question Number : 180 Question Id : 6323867160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Data is 2 collection of characters, numbers and other symbols that represents the value of some situations or vartables. Structured and
Unstructured are two types of data. Data storage 1s the process of storing the data on storage devices so that data can be retrieved later.
There are various data pre-processing eyele. Store, retrieve, classify and update 1s a pre processing steps. RDBMS can be used to remove
the certain imitations in processing the files.

Based on the sbove paragraph answer the following.

Which of the following software method can be used to store and retrieve the data?

1. Python or DBMS like Mysql

e

. Files
3. Processing system
4. Tables
Options :
63238628637. 1
63238628638. 2
63238628639. 3

63238628640. 4

Question Number : 180 Question Id : 6323867160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

ST, Sl SR R o o R O 5 A 9 I 6, T ¢ S ok AN s 6 ¢ HR g 3
W(Data smragejlﬁmmaﬁﬁwaﬂaﬁ@ﬁﬂ (store) Wﬁm%m%ﬂﬁmﬁ “—%WWWW%I &
® 175 TR agd m ‘EI TR (stare) ﬁﬁa (retrieve), W@EF&F (classify) IR 03e 7 ‘ﬁw BeH (steps) % | RDBMS
TR 1 TR (processing) & 0 @913 1 g B QU0 o 1 9 €

BRE H0E 0 IR R TR

o 1 3 9RO Oiwedm el Sa 5l o Gﬂef(retrie\fes} 3R (store) Wﬁmmﬂ foa 1 e %‘?
1 T 71 DBMS U Mysql

1. I
3. A

4, Tl

Options :

63238628637. 1
63238628638. 2
63238628639. 3

63238628640. 4

Sub-Section Number : 4
Sub-Section Id : 632386312
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 181 Question Id : 6323867161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ3

This exeption occurs wherever a local or global variable name is not defined.
1. ValueError
2. TypeError
3. OSError
4. NameError
Options :
63238628641. 1
63238628642. 2
63238628643. 3

63238628644. 4

Question Number : 181 Question Id : 6323867161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

g 3{UAIE 361 & O8] Pl Gl a U1 a1 dRUad (variable) TH TR F61 WWaT 8|

1. ValueError

| ]

. TypeError

Taa

. OSError

4, NameError

Options :
63238628641. 1
63238628642. 2

63238628643. 3



63238628644. 4

Question Number : 182 Question Id : 6323867162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

Match List I with List IT

LISTI LISTII
[nsertion in a queus atf 1. [FRONT
Deletion 1n a queue at| II. [Enqueus
[Deletion operation III. |REAR

[nsertion operation IV. [Dequeue

S REE

Choose the correct answer from the options given below:
1. A-I1, B-I, C-III, D-IV
2. AL B-L, C-IV, D-III
3. A-IIL B-IV, C-I, D-II
4. A-IIL, B-L, C-IV, D-II
Options :
63238628645. 1
63238628646. 2

63238628647. 3

63238628648. 4

Question Number : 182 Question Id : 6323867162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ3

el 1 1 g4l 11§ e ifo

I =
@ HEgRHEldie. | I [FRONT
ﬂﬁﬁ'ﬁﬂ—qﬂ E'IHT% II. [Enqueune
[ESIEEREIET 111 [REAR

mﬁ EIEZ] IV. [Dequeue
Fafeiad [deedl & 3 9ol SO &1 999 B ;

1' A-I:[.'- B-I_- C'III: D'IR‘T

ofafw]

2. A-TL, B-1. C-IV. D-III
3. A-TIL B-IV. C-1. D-IT
4. A-IIL B-1, C-IV, D-II
Options :
63238628645. 1
63238628646. 2
63238628647. 3

63238628648. 4

Question Number : 183 Question Id : 6323867163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




In search by hashing, we have size of the hash table and the size of list. then

1. Size of hash table 1s always smaller than size of list

|

. Size of hash table always equal to size of list
3. Size of list 1s always greater than size of hashtable
4. Size of hash table can be greater than the size of the list
Options :
63238628649. 1
63238628650. 2
63238628651. 3

63238628652. 4

Question Number : 183 Question Id : 6323867163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

SR & GRI @I B, 3R FHR U 3 QI &1 SER 3R Tl BT HPR 5, 74
1. 5 AITIP1 BT PR ! & PR H U BIeT Il 5
2. B A1 B HBR Yol & HPR & aXIeR 5/al 8
3. I &7 STHR g dIierd] & HHR Y G G818l 5

4. B DI BT HTHR el & HHR § 931 51 9l g

Options :

63238628649. 1
63238628650. 2
63238628651. 3
63238628652. 4



Question Number : 184 Question Id : 6323867164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

sorts a given list of elements by repeatedly comparing the adjacent elements and swapping them if they are unordered.
1. Selzction Sort

2. Insertion Sort

3. Bubble Sort

4, Merge Sort
Options :
63238628653. 1
63238628654. 2
63238628655. 3
63238628656. 4

Question Number : 184 Question Id : 6323867164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




fey a1 gl AR W e el 1 et % el 9ael & o e BXal § SR A G A A8
1, T e
2, 3OgH AR
3. qa Tl
4, T e
Options :
63238628653. 1
63238628654. 2

63238628655. 3

63238628656. 4

Question Number : 185 Question Id : 6323867165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

Match List I with List IT

LISTI LISTII
A [RDBMS I. |Unigue indetification of tupleg
B. Primary Key IT. |Attribute Value
C. |Tuple 1s collection of [II. |Store data in related table
D. [Database Schema and Constraintg IV, |[Database catalog

Choose the correct answer from the options given below:
1. A-IV, B-1. C-II, D-III
2. AL, B-1, C-I1, D-IV
3. A-II, B-IV, C-IIL, D-I

4. A-1, B-IV, C-I1I, D-1I
Options :

63238628657. 1



63238628658. 2
63238628659. 3

63238628660. 4

Question Number : 185 Question Id : 6323867165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

T 1 1 =i 11§ A Sifoe

Gl T
_[RpBMS (RETETHTD)| 1 [eua @t afefg gga
mw{kt‘y} II. W{Arﬁﬁbmej HH
U YUE & 111 [Tiferd it o Sa1 &l Tikd &

Sclad dodll
D. [ecay &R 3R uiday| IV

olw|e

Frafcfad faeel O 9§ 9al SR &1 909 Sifou
1. ATV, B, C-I1, D-I1I

AL B-1L CHIO, D-IV

|

A-IIL B-IV, C-1II1, D-I

L]

4. A-L, B-IV. C-III. D-II
Options :
63238628657. 1
63238628658. 2
63238628659. 3
63238628660. 4



Informatics Practices

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 186 Question Id : 6323867166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

632386131
3

Online
Optional
35

25

125

Yes

0

1
632386313
Yes

null

Key Value

MCQ4

Comprehension




Match List I wath List [T

LIST1 LIST I
SELECT LOWER(COMPUTER); | 1. [COM
SELECT LEFT('COMPUTER', 3); | II. [UTER’
SELECT RIGHT{COMPUTER'_ 4)] III. [OMP'
SELECT MID(COMPUTER’, 2.3); | IV. [ computer

o[ ][>

Choose the correct answer from the options given below:
1. A-I, B-IL, C-IV, D-III
2. A-IV, B-1, C-III, D-II
3. A-IV, B-I, C-II. D-III
4. A-IV, B-1I, C-1, D-ITI
Options :
63238628661. 1
63238628662. 2

63238628663. 3

63238628664. 4

Question Number : 186 Question Id : 6323867166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




el 1 1 gl 11 9 e sifor
I T I

SELECT LOWER(COMPUTER); | 1. |[COM
SELECT LEFT(COMPUTER', 3); | II. [UTER’
SELECT RIGHT({COMPUTER'. 4)] III. fOMP'
SELECT MID(COMPUTER’, 23); | IV. | computer’

o R Red f AT SR

1. A-I, B-II, C-IV, D-III

o[>

2. A-IV, B-1. C-III, D-II
3. A-IV, B-1, C-I1, D-IIT
4. A-IV, B-II. C-I, D-III
Options :
63238628661. 1
63238628662. 2
63238628663. 3

63238628664. 4

Question Number : 187 Question Id : 6323867167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Which one in the following options 1s not a constraint ?
1. Primary key

2. Unique

Tad

. Foreign key
4. Candidate key
Options:

63238628665. 1



63238628666. 2
63238628667. 3

63238628668. 4

Question Number : 187 Question Id : 6323867167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

-3 ool § 9 -1 ISP Aldse (constraint) T3 87
1. UIgHRT it

-

g
R ol
s 3T goh

Options :

L]

63238628665. 1
63238628666. 2
63238628667. 3

63238628668. 4

Question Number : 188 Question Id : 6323867168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




Which SQL function will return the following output:
mysql = Select 7 (53, 10):
output 3
1. Truncate
2. ROUND
3. MOD
4. POW
Options :
63238628669. 1
63238628670. 2

63238628671. 3

63238628672. 4

Question Number : 188 Question Id : 6323867168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

B Il SQL HaRH Y 31SHeYE DI Alel a2
mysql > Select 7 (53, 10):
output 3

1. Truncate

2. ROUND

3. MOD

4. POW
Options :

63238628669. 1



63238628670. 2
63238628671. 3

63238628672. 4

Question Number : 189 Question Id : 6323867169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Which of the following 15 not a Descriptive Statistical method that can be applied to a DataFrame?

1. sum()

[

. count()

3. ave()

4, mean()
Options :
63238628673. 1
63238628674. 2
63238628675. 3

63238628676. 4

Question Number : 189 Question Id : 6323867169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




19 T ¥ o1 91 quiTeD SR Ul Tel § Gl Seihy o foft I 8l ol &2

1. sum()

| S

. count()

3. avg()

4. mean()
Options :
63238628673. 1
63238628674. 2
63238628675. 3

63238628676. 4

Question Number : 190 Question Id : 6323867170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Which of the following 1s not an aggregate function that can be applied to a DataFrame?

1. max()

| ]

cstd()

3. var()

4. sort()
Options :
63238628677. 1
63238628678. 2
63238628679. 3

63238628680. 4



Question Number : 190 Question Id : 6323867170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4
5 1 < 1 91 9] BT (aggregate function) Tl & ol SCBPH & (AU A 6 Il 67
1. max()
2. std()
3. var()
4. sort()
Options:

63238628677. 1
63238628678. 2
63238628679. 3

63238628680. 4

Question Number : 191 Question Id : 6323867171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Which of the following denotes a missing value in a DataFrame?

1. NULL

|

0

. NaN

Tad



Options :

63238628681. 1
63238628682. 2
63238628683. 3
63238628684. 4

Question Number : 191 Question Id : 6323867171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

9 & I o5 Senpd | aifggmH (missing value) BI YA 87
1. NULL
2.0
3. NaN
4.-1
Options :
63238628681. 1
63238628682. 2

63238628683. 3

63238628684. 4

Question Number : 192 Question Id : 6323867172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ4

The scatter() function

1. Iz a powerful method of creating scatter plots than plot() function.

|

. Can create line graph
3. Can create bar graph

4. Can create pie chart
Options :
63238628685. 1
63238628686. 2
63238628687. 3

63238628688. 4

Question Number : 192 Question Id : 6323867172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

The scatter() PaRH
1. R R (scatter plots) GIGRIEEANY plot() DI Gl da-l 7 e e alie o

2. W5 1% 11 9ol 8|

3. TR 1% 1 TPhal ¢

1, W5 91 & 9S8
Options :
63238628685. 1
63238628686. 2
63238628687. 3

63238628688. 4



Question Number : 193 Question Id : 6323867173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Which of the following plots makes it easy to compare two or more distributions on the same set of axes?
1. Box plot
2. Histogram
3. Frequency polygon
4. Bar chart
Options :
63238628689. 1
63238628690. 2
63238628691. 3

63238628692. 4

Question Number : 193 Question Id : 6323867173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




YU T8 o Sf&l W &1 a1 8] S Sra] [AaRull &) g (9 5 € $H-81 T SHH &1 87
1. Si9g wie
2. e
3. Oreb Ry eI (3mqf iferr)
4. §RAR
Options :
63238628689. 1
63238628690. 2

63238628691. 3

63238628692. 4

Question Number : 194 Question Id : 6323867174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Which of the following statements is used to create a histogram of 'step’ type with 20 bins?

1. plt.hist(x, bins = 20, histype= "barstacked")

[ ]

. plt.hist(x, bins = 20)

L]

. plt.hust(x, bins =20, histype = "step™)
4. plt.hist(x, bins = 20, histype = hist())

Options :

63238628693. 1

63238628694. 2

63238628695. 3

63238628696. 4



Question Number : 194 Question Id : 6323867174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

79 & 11 T BT ITGM 20 bins T 1Y 'step' YPR P oI 81 4 a1 o1 82

1. plt-hist(x, bins = 20, histype= "barstacked")

[ ]

. plthist(x, bins = 20)

Taa

. plt.hist(x, bins =20, histype = "step")

EEN

. plt.hist(x, bins = 20, histype = hist())
Options:

63238628693. 1

63238628694. 2

63238628695. 3

63238628696. 4

Question Number : 195 Question Id : 6323867175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




Cancer pattent analysts n the Mumbai region 15 to be plotted. The command used fo give title to X-axis as "No. of patients” in the graph
i8:

L. plt showr)

2. pltplot("No. of patients')

3. plt.xlabel("No. of patients")

4, plttitle("No. of patients')
Options :
63238628697. 1
63238628698. 2

63238628699. 3
63238628700. 4

Question Number : 195 Question Id : 6323867175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

W&HﬁWWﬂWWWWWIWﬂYH&ﬁ% of patients” Wéﬁﬁﬁuﬁwmwﬂn%w
v

1. plt.show()

1. pltplot("No. of patients")

3. plt:xlabel("No. of patients")

4. pltitle("No. of patients")
Options :
63238628697. 1
63238628698. 2

63238628699. 3
63238628700. 4



Question Number : 196 Question Id : 6323867176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Which of the following is not a web browser?

1. Microsoft Edge

|

. Windows

L]

. Internet Explorer
4. Google Chrome
Options :
63238628701. 1
63238628702. 2
63238628703. 3

63238628704. 4

Question Number : 196 Question Id : 6323867176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4
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1. OIS EIF TS
o=

. greAe TR
4, TR 1T

-

Tz

Options :

63238628701. 1
63238628702. 2
63238628703. 3
63238628704. 4

Question Number : 197 Question Id : 6323867177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Match List I wath List IT

LIST1I LISTII
=lammer I. [Omni directional
Microwave II. [Unt directional

F adiowave I11. [Ethical hacker
White hats IV |Virus

R

Choose the correct answer from the options given below:
1. A-IIL, B-1, C-II, D-IV
2. A-IV, B-II, C-1, D-III
3. A-IV, B-I, C-II, D-IIT

4. A-II1, B-I1. C-L. D-IV
Options:

63238628705. 1



63238628706. 2
63238628707. 3
63238628708. 4

Question Number : 197 Question Id : 6323867177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4
a1 1 BT GEl 11 F e Sife
T I GGLhl

A [ M CEIRGE
B_[ATZshidd 1l [oad feed®

C. [ff&gag 111 [Eidese Afde gquisd]
D. [®15¢ e IV, [93H

Fafeiad [deedl & © 981 U &1 999 Bl ;
1. A-IIL, B-I, C-II, D-IV
2. A-IV, B-IL C-1, D-III
3. A-IV, B-1, C-I1, D-III
4. A-IL B-1I, C-1, D-IV
Options :
63238628705. 1
63238628706. 2

63238628707. 3
63238628708. 4

Question Number : 198 Question Id : 6323867178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

What are two advantages of using fiber-optic cabling instead of UTP (any two)?

A. Lower cost

B. Easier to install

C. Allows longer distances

D. Less atfected by external signals
E. Easier to terminate the cable ends.

Choose the correct answer from the options given below:

1. Aand B only

-2

. C and D only

Taa

. A and E only

4. B and E only
Options :
632386287009. 1
63238628710. 2
63238628711.3

63238628712. 4

Question Number : 198 Question Id : 6323867178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4
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A, HY PIET|

B. SUCId PR H M|

C. gdl g3 @I Wipld Sar g

D. §Tel s @ su yuIfda gar o

E. 580 BRI & e H 3 8l

[ U fashed & 3MUR U= Fg! SR I |
1.ad A HR B
2. 94w C AR D
3. P00 A HRE
4. PddB AR E

Options :

63238628709. 1
63238628710. 2
63238628711. 3

63238628712. 4

Question Number : 199 Question Id : 6323867179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




Anyone who uses digital technology along with internet 1s known as:

A. Responsible citizen
B. Netizen

C. Good citizen

D. Digital citizen

Choose the correct answer from the options given below:

1. Aand B only

[

. C and D only
3. B and D only

4. Aand D only
Options :
63238628713. 1
63238628714. 2
63238628715. 3
63238628716. 4

Question Number : 199 Question Id : 6323867179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




@i Ui ot Seve & g feforea awfe &1 Wi SugiT &ar 8, 91 oial 6
A. [oHER Ari®
ZE.Eﬁ%ﬁﬁ:fﬂieﬁzen]

C. 351 ANING
D. [ofoied Tmik®

{7 faedl 0 O U8l 3R 9;
1. Had A AR only
2.%4dd C IR D
3. %A B 3R D
4. PAAAIRD

Options :

63238628713. 1
63238628714. 2
63238628715. 3

63238628716. 4

Question Number : 200 Question Id : 6323867180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




Digital foot prints are trail of data reflecting the activities performed by us online. The two types of digital footprints are:

A. Tech
B. Smatt

(. Passive
D. Active

Choose the correct answer from the options given below:
1. Aand D only
2.Band C only
3.AB.CandD
4, Cand D only
Options :
63238628717. 1
63238628718. 2

63238628719. 3
63238628720. 4

Question Number : 200 Question Id : 6323867180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




FEfFEcT 0 i Digtalfoot pras TR 1 177 90 1 1 101 ) 1 51 vl 1 2T o gl
footprnts) ARGt

ATD (Tech)
B. ¢ (Smart)
¢.thm (Passtve)

D. iﬁ?ﬂ (Active)
1l FQ foel o SR R g SR
13T ARD
). 3B IRC
3.A.8,CIRD
1. 3TCIRD
Options :
63238628717. 1
63238628718 2

63238628719. 3

63238628720. 4

Question Number : 201 Question Id : 6323867181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




Choose the options which come under the category of net ctiquettes

A. Be Ethieal

B. Respect Privacy
C. Be Responsible
D. Be Respecttul

Choose the correct answer from the options given below:
1.A.B.Cand D
2. Aonly
3. B only

4. C and D only
Options :
63238628721. 1
63238628722. 2
63238628723. 3
63238628724. 4

Question Number : 201 Question Id : 6323867181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




GEP[ Aol &I g-q oIl A ffé‘rgﬁlﬁ (net etiquettes) aﬁﬁ HIdl %

A, 3% 2| (Be Ethical)

B. MYl &1 S &1 | (Respect Privacy)
C. SHER B (Be Rezponsible)

D. fgldaHH IR (Be Respecttul)

{2 f3u fgeedl 9 9l IR I4:
1.A.B.C 3R D
2. PATA
3. AU B
4. 934 C AR D

Options :

63238628721. 1
63238628722. 2
63238628723. 3

63238628724. 4

Question Number : 202 Question Id : 6323867182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4
and are popular free and open source software tools.

—t

. Matlab, Python

[

. Libre Office. Mozilla Firefox

Laa

. Adobe Acrobat, Matlab

4. MS-Office, Microsoft Windows
Options:

63238628725. 1



63238628726. 2
63238628727. 3

63238628728. 4

Question Number : 202 Question Id : 6323867182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4
3R feReaTel e 3R S ¥l (3197 IH) W daR SUaRu 6|
1. Tead, urgYE
2. Torsl aiffesg, Aifora BraRwIa
3. USI9 Uplsie, Head
4, TH TO-TTHY, AEHNITe fsie
Options :

63238628725. 1
63238628726. 2
63238628727. 3

63238628728. 4

Question Number : 203 Question Id : 6323867183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




Unsolicited commercial email 15 known as :

1. Malware

| S

. Virus

L]

. Spyware
4. Spam
Options :
63238628729. 1
63238628730. 2
63238628731. 3

63238628732. 4

Question Number : 203 Question Id : 6323867183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

TeTe! aNUIegd (AR SHE o= 91dl o
1. HIAAER

4.9
Options :
63238628729. 1
63238628730. 2
63238628731. 3

63238628732. 4



Question Number : 204 Question Id : 6323867184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

Match List I with List IT

LISTI LISTII
A i I [tiza program fﬂ'hich s 111'.cendec1 1o
= carry out malicious operations
B. [FOS5S II. [It is a program which copies itself across a network
C. [WORM ITI. [[t grants a user substantial rights and freedom
L

TROJAN HORSE| IV |Cyber bullying

Choose the correct answer from the options given below:
1. A-IV, B-III, C-II, D-I
2. A-L, B-II, C-I1I, D-IV
3. A-IV, B-I, C-IIL, D-II
4. A-IL, B-I, C-IV, D-III
Options :
63238628733. 1
63238628734. 2

63238628735. 3
63238628736. 4

Question Number : 204 Question Id : 6323867184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




el 1 1 gl 11 9 e sifor

g I 11

e UG UIM g g

A |Doxing (3 | L [Hffrmiel o Hoiad $31 &1 28]
EEGINA
e Ush UTUTH & off 30 310 &l I3

B. [FOSS (BTH) II. Hedd R WY U Ufdeid (copy)
ERGIR

o fee OE SUHIE B T ATETHR AR
C. [worM (@) 1L R Y
D. %A%DRSE v W@jﬁﬂ{cyber bullying) |
Fafalad faeedl & O 98l 3O’ &1 994 Sifv.

1. A-IV, B-1III, C-II, D-I

-

. A-IL B-II, C-III, D-IV

Tia

. A-IV, B-1. C-III. D-II
4. A-II, B-I, C-IV, D-III

Options :

63238628733. 1

63238628734. 2

63238628735. 3

63238628736. 4

Question Number : 205 Question Id : 6323867185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4




Creative creations of mind such as patents, trademark and copyright are called :
1. Internet Creative Rights
2. Intellectual Profit Rights
3. Intellectual Property Rights
4. Digital assets
Options :
63238628737. 1
63238628738. 2

63238628739. 3

63238628740. 4

Question Number : 205 Question Id : 6323867185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ4

T o YIS 10 oY UCTH (patents), COHTGD (trademark) R DIURISE (copyright) PEAM &:

1, SCE TTHP SAUPR (Internet Creative Rights)
2. Gifd T HiPR (Intellectual Profit Rights)
3. WS ® U ARER (Intellectual Property Rights)
4. Tforea gufd (Digital assets)

Options :

63238628737. 1

63238628738. 2

63238628739. 3

63238628740. 4

Sub-Section Number : 2



Sub-Section Id : 632386314
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 206 Question Id : 6323867186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3

Consider a computer system connected with transmission medium having mintmum frequency 500 kHz and maximu frequency 1500
kHz. A user wants to upload a text document at the rate of 10 (1 page = 1600 characters and each character is of 8 bits) pages per 20
seconds. Stmultaneousty he 1 also receiving the data on the system from transmission medium. On the basis of the above assumptions
answer the following questions:

What 1s the bandwidth of the transmission medium used?

1. 500 kHz

| ]

. 1500 kHz

. 1000 kHz

Taa

4. 2000 kHz
Options :

63238628741. 1
63238628742. 2
63238628743. 3

63238628744. 4

Question Number : 206 Question Id : 6323867186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension Comp3

) e ORI o f U R 9 3 591 e &1 50 . 2 o o a7 1500 65, 52
alwwwwaﬂﬁmumdocumm 10(19d1= lﬁDDJHmWﬂWEWW%Wﬁm’OW ﬁ?{_{
3 T O T 31 88 O e A e e o )

TR & T & R R e 1 o TG

R0 HTeqH H I9AiT {3501 T §510Y (Bandwidth) T 82
1. 500 f. g
2. 1500 f&. g9
3. 1000 fh. o
4, 2000 T, g2

Options :

63238628741. 1
63238628742, 2
63238628743.3
63238628744. 4

Question Number : 207 Question Id : 6323867187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3

Consider a computer systern connected with transmission medium having minimum frequency 500 kHz and maximum frequency 1500
kHz. A user wants to upload a text document at the rate of 10 (1 page = 1600 characters and each character 1s of 8 bits) pages per 20
seconds. Simultaneously he 1 also receiving the data on the system from transmission medium. On the basis of the above assumptions
answer the following questions:



Calculate the required data rate of the transmission medium.

1. 6400 bps

|

. 640 kbps

Tad

. 6400 kbps
4. 64000 bps
Options :
63238628745. 1
63238628746. 2
63238628747. 3

63238628748. 4

Question Number : 207 Question Id : 6323867187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3

Wﬁmmiﬂﬁmwwﬂﬁww%ﬁwwuﬂqﬁm@% e R afvaram o 1500 . g2
alwwwwaﬂmﬁﬂuemdocumm 10(19aT= 16004&1?*9@?&&1?8%@@%‘1?7?[@’0% ﬁ_ﬂ
R Wammawwﬁaawmmﬂfmwﬁawﬁwm%

TR IR onR R Fefofen me o ame:

TR0 HIEH &1 528] Sl & DI 0T B
6400 S1.U1.0H

.640 D141 0Y

6400 & &1.4LTH

4. 64000 &1.01.09
Options:

[a—

o]

L]

63238628745. 1



63238628746. 2
63238628747. 3

63238628748. 4

Question Number : 208 Question Id : 6323867188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3

Consider a computer systerm connected with transmission medium having minimum frequency 500 kHz and maximum frequency 1500
kHz. A user wants to upload a text document at the rate of 10 (1 page = 1600 characters and each character 1s of 8 bits) pages per 20
seconds. Simultaneously he 1 also receiving the data on the system from transmission medium. On the basis of the above assumptions
answer the following questions:

Which type of data communication have been used in the present scenario?

1. Half duplex communication

2

. Simplex communication

L]

. Duplex communication

4. Full duplex communication
Options :
63238628749. 1
63238628750. 2
63238628751. 3

63238628752. 4

Question Number : 208 Question Id : 6323867188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp3

Wﬁmwhﬁmwmm&ﬁw%mﬂwwﬁm% e R o o 1500 . g2
?Iwwwwaﬂwktmdocumm 10(19d1= lﬁDMHmWHWEWW%WﬂWWW ﬁ?{_{
3 TS T T 10 U a5 T A R S A R

T & AR & SR R e m o g e

aa0 uRfRIE O 55 YR & S 991K & SUg T f6ar Srar 2

1. elp 6%@% 9K (Half duplex communication)

-

< =R (Simplex communication)

: 3{@3@[ HER (Duplex communication)

L]

4.9d S?LJ,R:TQ{-I IR (Full duplex communication)
Options :
63238628749. 1
63238628750. 2
63238628751. 3

63238628752. 4

Question Number : 209 Question Id : 6323867189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3

Consider a computer system connected with transmission medium having mintmum frequency 500 kHz and maximu frequency 1500
kHz. A user wants to upload a text document at the rate of 10 (1 page = 1600 characters and each character is of 8 bits) pages per 20
seconds. Simultaneousty he 15 also receiving the data on the system from transmission medium. On the basis of the above assumptions
answer the following questions:



How many number of bits the user wants to upload?

1. 200 bits

[

. 16000 bits

3. 8 bits

4. 128000 bits
Options:
63238628753. 1
63238628754. 2
63238628755. 3
63238628756. 4

Question Number : 209 Question Id : 6323867189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3

T SR Ve R R & o o a9 T 61 5 o W a0 1, 2t o o i 1500 9. e
élﬂﬁ’r—quaﬂﬁwktemdocumm 10(19d1= lﬁDDJHmWﬂWEWW%WﬁW*OW ﬁ?ﬂ
3 T 0 T 31 88 e A e e ey e )

TR & TR & R R e 1 o T e

ST 92T (bits) 1 [pa-l Tnali &1 3ATeis BT 9I6dl 82
1.200 faeg
2. 16000 facH
3. facg
4. 128000 facH

Options :
63238628753. 1



63238628754. 2
63238628755. 3

63238628756. 4

Question Number : 210 Question Id : 6323867190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3

Consider a computer systerm connected with transmission medium having minimum frequency 500 kHz and maximum frequency 1500
kHz. A user wants to upload a text document at the rate of 10 (1 page = 1600 characters and each character 1s of 8 bits) pages per 20
seconds. Simultaneously he 1 also receiving the data on the system from transmission medium. On the basis of the above assumptions
answer the following questions:

The capacity of a transmission medium 1s measured in terms of and

1. bits, character

2. bytes. frequency

3. Bandwidth, data transfer rate

4. Bandwidth, frequency
Options :
63238628757. 1
63238628758. 2

63238628759. 3

63238628760. 4

Question Number : 210 Question Id : 6323867190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp3

mﬁmwh@mwmm&ﬁw%mﬂwwﬁsw B o o a7 1500 .
?Iﬁwwwaﬂ_ﬁmuwdocumm 10(19d1= IGDMHWWHWEWW%W?IW 0 THE TR
3 TS T T 10 U a5 T A R S A R

T & AR & SR R e m o g e

T=N0T ATHH i &HAT &I 3R HITH AT A B

1. f92H, 31&R (bits, character)

-

. digcd, 31@? (bytes, frequency)

: a?sﬁ’l{ ST I g (Bandwidth, data transfer rate)

L]

4, E’sf&ﬁ, 341%1?1 (Bandwidth, frequency)
Options :
63238628757. 1
63238628758. 2
63238628759. 3

63238628760. 4

Sub-Section Number : 3
Sub-Section Id : 632386315
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 211 Question Id : 6323867191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4




Given dataframe showing the record of Temperature, Rainfall, Humidity of 5 states.

State Avg Temp (°C) Rainfall {(in cm) Humidity
1 |Assam 20 150 10.6
2 IDelh: 50 70 7.5
3 [Kerala 20 120 109
4 |Rajasthan 35 50 5.6
3 |Telangana 8 4] 8.7

Using the above dataframe answer the questions:

Identify the correct code to remove the column Humidity from the given dataframe, statedf:

1. statedf = statedf.pop(Humudity")
print(statedf)

2. statedf = statedf.pop([ Humidity']. axis = 1)
3. statedf = statedf.drop([Humidity'], axis = 0)
4, statedf = statedf.drop([Humidity']. axis = 1)

Options:

63238628761. 1

63238628762. 2

63238628763. 3

63238628764. 4

Question Number : 211 Question Id : 6323867191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4




ﬁmg&nsaifm data frame) 5 0! & qUHA (Temperature), GLif (Rainfall),S{Tsdl (Humidity) @ WWW%I

State AvgTemp (°C)  Rainfall (incm) Humidity
1 Assam 20 150 106
2 Delhi 30 70 75
3 Kerala 20 120 109
4 Rajasthan 35 50 56
5Telangana 28 87
TR S SHH Bl I B mﬁﬁ'{%‘

fGUGUSTIPT statedfs T MGl (Humidity) P10 Bl 82 & foll Gel BIs Bl UgdH,

1. statedf = statedf. pop( Humidity')
print(statedf)

2. statedf = statedf.pop([ Humidity'], axig = 1)
3. statedf = statedf drop([ Humidity']. axis = 0)
4, statedf = statedf.drop([ Humidity'], axis = 1)

Options:

63238628761. 1

63238628762. 2

63238628763. 3

63238628764. 4

Question Number : 212 Question Id : 6323867192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4




Given dataframe showing the record of Temperature, Rainfall, Humidity of 5 states.

State Avg Temp (°C) Rainfall {(in cm) Humidity
1 |Assam 20 150 10.6
2 IDelh: 50 70 7.5
3 [Kerala 20 120 109
4 |Rajasthan 35 50 5.6
3 |Telangana 8 4] 8.7

Using the above dataframe answer the questions:

Identify the correct statement from the following to display all the data of "Rajasthan” state.

1. statedf loc[3]

| ]

. statedf.loc[ Rajasthan']
3. statedf.loc(3)

4. statedf loc('Rajasthan’)
Options :
63238628765. 1
63238628766. 2
63238628767. 3

63238628768. 4

Question Number : 212 Question Id : 6323867192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4

EQTE\}H S (data frame) 5 Tl! & dUHH (Temperature), GL (Rainfall) gl (Humidity) & diHal Bl g

State Avg Temp (°C) Rainfall (in cm) Humidity

1 Assam 20 150 10,6

2 Delhi 30 10 15

3 Kerala 20 120 109

4 Rajasthan 35 50 56

5 Telangana 28 90 87

TR & ST &1 UG B 04 & R ¢,



"Rajasthan” 50 P T ST DI TR & 018 9 & 9§ Fe! F BT G .

1. statedf.loc[3]

b

. statedf.loc['Rajasthan']

Tad

. statedf.loc(3)

4. statedf.loc(Rajasthan")
Options :
63238628765. 1
63238628766. 2
63238628767. 3

63238628768. 4

Question Number : 213 Question Id : 6323867193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4

Given dataframe showing the record of Temperature, Rainfall, Humidity of 5 states.

State Avg Temp (°C) Rainfall {in cm) Humidity
1 |Assam 20 150 10.6
2 [Delhi 30 70 [
3 [Kerala 20 120 10.9
4 |Rajasthan 35 50 5.6
3 |Telangana 28 a0 B.7

Using the above dataframe answer the questions:



Name the attribute used to display a tuple showing the dimensions of statedf dataframe 1¢., (5, 4). 5 rows and 4 columns respectively,
L. statedf.size
. statedf shape
3. statedf.ndim

. statedf index
Options:

63238628769. 1
63238628770. 2
63238628771. 3
63238628772. 4

Question Number : 213 Question Id : 6323867193 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4

EGTE\}HW data frame) 5 0! & qUHA (Temperature), GLif (Rainfall), 3Tgdl (Humidity) & i@l 3l Gl gl
State AvgTemp (°C)  Rainfall (incm) Humidity

1 Assam 20 150 106

2 Delhi 30 70 75

3 Kerala 20 120 109

4 Rajasthan 35 50 56

5Telangana 28 90 8.7

B & SeH B1 JUT R WAl o I &

T O (tuple) stated] SR 35 07 (5, 4), (8T 5 T (o) 3R 4 I (colurnn) TR ) 01 BT 1 00 e 7 &
fey T 9 O a7t OICOUE (attite) 1 T &

1. statedf size
2. statedf shape
3. statedfndim

4, statedfindex



Options :

63238628769. 1
63238628770. 2
63238628771.3
63238628772. 4

Question Number : 214 Question Id : 6323867194 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4

Given dataframe showing the record of Temperature, Rainfall, Humidity of 5 states.

State Ave Temp (°C) Rainfall {in cm) Humidity
1 |Assam 20 150 10.6
2 [Delhi 30 70 75
3 [Kerala 20 120 10.9
4 [Rajasthan 15 S0 5 6
> |Telangana 28 o0 a7

Using the above dataframe answer the questions:

command is used to display first five records and command is used to display bottom five records of the dataframe.

1. statedfhead(5), statedftail(-5)
2. statedf head(), statecf tail(-F)
3. statedf head(5), statedf tail(5)
4, statedf head(-5), statedftaill)
Options:
63238628773. 1
63238628774. 2

63238628775. 3
63238628776. 4



Question Number : 214 Question Id : 6323867194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp4

Emganmﬁq (data frame) 5 Tl! & dUHH (Temperature), GL (Rainfall) gl (Humidity) o 3fids ol cHidl 8l
State Avg Temp (°C) Rainfall (in cm) Humidity

1 Assam 20 150 10,6

2 Delhi 30 0 15

3 Kerala 20 120 109

4 Rajasthan 35 50 5.6

5Telangana 28 90 8.7

SR b ST BI JTAA B 99 b IR &

TSN AU 4S5 IR e RSN SU TR aws e Te s
weRia g & forswn e a2

1, statedf head(5), statedf tail(5)
2. statedf head), statedf tail(-3)
3. statedfhead5), statedf tarl(5)
4, statedf head(-5), statedf tail )
Options :
63238628773. 1
63238628774. 2

63238628775. 3

63238628776. 4

Question Number : 215 Question Id : 6323867195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp4

Given dataframe showing the record of Temperature, Rainfall, Humidity of 5 states.

State Ave Temp (°C) Rainfall {in cm) Humidity
1 |Assam 20 150 10.6
2 [Delhi 30 70 75
3 [Kerala 20 120 10.9
4 [Rajasthan 15 S0 5 6
> |Telangana 28 o0 a7

Using the above dataframe answer the questions:

Give the output of the given python code:

statedf.loc[:, Rainfall (in cm)'] = 90

1, {Assam True
Delhi False
K erala True

Fajasthan [False

Telangana [False

2 |1 True
X False
3 True
4 False
5] False

3. |1 20
3 20

4 |Assam 150
Ke=rala 120

Options :

63238628777. 1
63238628778. 2
63238628779. 3

63238628780. 4

Question Number : 215 Question Id : 6323867195 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp4
EQTE'\}H S (data frame) 5 TA1 & AI9AH (Temperature), qui (Rainfall) Mgl (Humidity) & dimel Bl g gl
State Avg Temp (°C) Rainfall (in cm) Humidity
1 Assam 20 150 106
2 Delhi 30 10 75
3 Kerala 20 120 109
4 Rajasthan 35 50 56
5 Telangana 28 90 8.7
TR & SeTvH b1 39 B Wl & SR &
fau gu Fufafad gigy 18 &1 313eye <
statedf.loc[:. Rainfall (in em)'] = 90
1, |Assam True
Delhi False
K erala True
Fajasthan [False

Telangana [False

2.1 True
2 False
3 True
4 False
5 Falze
3 |1 5
3 2

4, |Assam 150
Kerala 120

Options :

63238628777. 1
63238628778. 2
63238628779. 3

63238628780. 4

Sub-Section Number : 4

Sub-Section Id : 632386316



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 216 Question Id : 6323867196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5

Single row or scalar functions are applied on a single value and return a single value.

Which of the following 1s NOT a Date Function?

1. DATE()

| ]

. NOW()

Taa

. THEN( )

4, DAY()
Options:
63238628781. 1
63238628782. 2
63238628783. 3
63238628784. 4

Question Number : 216 Question Id : 6323867196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5




el AR (Single row) Tl 3G BT (functions) et HF (stngle value) | Wfﬂﬁg R 3feret FH ier (return) el
EEREE 6 LTS (Date Function) T %‘?
1. DATE()
2.NOW()
3. THEN()
4.DAY()
Options :
63238628781. 1
63238628782. 2

63238628783. 3

63238628784. 4

Question Number : 217 Question Id : 6323867197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5

Match List I with List IT

LISTI LISTII
A |DataFrame std( ) I. [Variance
B. [DataFrame describe( )| II. [Value that appears most
C. |DataFramne var( ) [11. |Descriptive statistical values
D. [DataFrame mode{ ) | IV [Standard Deviation

Choose the correct answer from the options given below:
1. A-IV, B-1IL, C-I, D-II
2. AL, B-IV, C-I1, D-I
3. A-IV, B-I, C-II. D-III

4. A-I. B-II, C-IV. D-III
Options :



63238628785. 1
63238628786. 2
63238628787. 3

63238628788. 4

Question Number : 217 Question Id : 6323867197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ5
1 1 1 g=l 11 ¥ e Sifoy
GGl I

A |DataFrame std( ) 1 [fgeeu {(varience)

B. |DataFrame describe( )| II. [HIH S gad HIE® e ﬁﬂT %|

C. |DataFrame.var{ ) 111 [gU-THS gifesdd! AW

D. [DataFrame.mode() |IV. [HH® [dgeq

Frafciad faeedl O 9 9el 3Tk &1 904 Sifoiu
1. A-IV, B-III, C-L D-II
2. A-IL B-1V, C-II, D-I
3. A-IV, B-I, C-II. D-III
4. AL, B-IL, C-IV. D-III
Options :
63238628785. 1
63238628786. 2

63238628787. 3

63238628788. 4

Question Number : 218 Question Id : 6323867198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5

The process of secret capture and analysis of network traffic by malicious users is called:

1. Snooping

2

. Intrusion

faa

. Eavesdropping
4. Cookies
Options :
63238628789. 1
63238628790. 2
63238628791. 3

63238628792. 4

Question Number : 218 Question Id : 6323867198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5

~ead TN 1 GHIGTIY0 SRl & GIRT U1 owT 3R faRerul &1 Ufhal &1 Ped &:
L. T%-1% (Jm)
2. YIS (ZCe)
3. RTGH I (578 )
4, PPV (Cookies)

Options :



63238628789. 1
63238628790. 2
63238628791. 3

63238628792. 4

Question Number : 219 Question Id : 6323867199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5

Mateh List I with List IT

LISTI LISTII
Mesh topology| 1. [Single backbone wire shared among the nodes
Ring topology | II. [Each communicating device is connected to a central networking devicd]
[Bus topology | IIL [Each communicating device is connected with every other device
Star topology | IV. [Each node 15 connected to two other devices, one each on etther side

o afw]»

Choose the correct answer from the options given below:
1. A-IV, B-I, C-II, D-III
2. A, B-IV, C-I, D-II
3. A-IL B-MII, C-IV, D-I
4. A-I, B-IL, CAIIL, D-IV
Options :
63238628793. 1
63238628794. 2

63238628795. 3

63238628796. 4

Question Number : 219 Question Id : 6323867199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ5
Yl 11 g4 11 ¥ e sifor

T I 11
HEr el | L[S & fog 2l ddhdid ar = &1

F eigraren | I [l §9R 97 ue $igg Jegio 43 E o2 38dl &
gg el | [ SaR g Ul g 4 U o Ed e
R et | 1V, [odie 918 & gak 931 § oS 38d &, &l IR UH-UF |

refaiad [awedl O 9 el 3 &1 904 $Ifoiu

1. A-IV, B-1, C-1I, D-III

ofofw]s

2. A-IL B-IV, C-I, D-II
3. A-IL, B-III, C-IV, D-I
4. Al B-II. C-IIL. D-IV
Options:
63238628793. 1
63238628794. 2
63238628795. 3

63238628796. 4

Question Number : 220 Question Id : 6323867200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5




The way a dataset s arranged into rows and columns is refersed to as the shape of data, Following function 1s used to reshape and create a
new DataFrame from the original one:

1. dropna( )

1. pivot)

3. sort )

4. merge( |
Options :
63238628797. 1
63238628798. 2

63238628799. 3
63238628800. 4

Question Number : 220 Question Id : 6323867200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ5

mwgﬁmﬁmmw I [coiumns)ﬂﬁm, S W$W1}IWW?{| HgicRed GRE
W‘r}“{?ﬂ 1 (G STV ﬁﬂqw (reshape) S IRER (create) b ﬁ'ﬂl fa] Gﬂ?ﬂj{z'?

L. dropna )

2. pivot( )

3.s0t()

4. merge( )
Options :
63238628797. 1
63238628798. 2

63238628799. 3
63238628800. 4



